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A. [M+N|=|M[+|N| B. [MN|=|NM|
C. MN=NM D. (M=N)*>=M?-2MN+N?
1 -1 -2
5. BERERE| -1 1t [MIRkEDS, Mt= ( Do
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A.2 B.-2 C.3 D. -3
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8. FHIELH, £ RMTEMMMBE ( ), Ha=(x,%,, %)
A. {a|x, >0} B. {a]|x +2x,+3x, =0}
C. {a|x=1} D. {a|x +2x,+3%, =1}
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A |a+pl=lal +| Bl B. la+pHa-pl
C. la-pldal +|BF D. la+BHal+|A]
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2X, — X, +3%;, +4X, =5
4X, —2X, +5X, +6X, =7
6X, —3X, +7X; +8X, =9
AX, —4X, +9%, +10x, =11
AR CIRYE AR R HBUE VG 20 ) BEAT T 8D
2. (157)) CRAME



1 1 -2 1
2 -1 -1 1
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3 -6 2 -2
4 6 -9 7

RENET W=, @, 05, ) IYERL S —
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4 6 0
A=-3 -5 0],
-3 6 1
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F (X, Xy, X3) =X, —2X; — 2X5 —4X, X, + 4%, X5 +8X, X,
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B =a +ta,,, te R, AW TALEL B, By, BT K
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2. (1040) BWANSEm=niifE, WRIFATASAGHFEKIFL, B r(ATA)=r(A).



